‘,‘5’“ e aud &
R = ol
e T@ i
‘ <8‘=Tl\oﬁ"‘°«
E{MW\mw

Nz g

AVERAGE

MATHS




1.There are30 students in a class. The average age of first 10
students is 12.5 years. The average age of the remaining 20 students
Is 13.1 years. The average age (in years) of the students of the whole
class is:

e heqT | 30 fa=meft 21 wore 10fa=ieat 1 & 12.5 99 g1 377 20
=T 7 Sf|d 13.1 a9 g1 HFQUr HeqT T ArEd AT e |

12.5 yrs
12.7 yrs
12.8 yrs
12.9yrs
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2.The average age of 20 boys in a class is 12 years. 5 new boys
are admitted to the class whose average age is 7 years . The
average age of all the boys in the class becomes

U FHeqT H 20 AT =l 3T AT 12 99 g1 5 7T A Fedl | qiregiera
g 2, TSreht i o 7 99 g1 hedT | 311 T 3T e ST e




3.The average marks of 32 boys of section A of class X is 60

whereas the average marks of 40 boys of section B of class X
Is 33. The average marks for both the sections combined
together is: :

&7 10 % 991 A o 32 ST=I1 71 39 60 TAT 391 B % 40 =11 &7 red
33 B I HeATAT T ST AT hL?




| 4.There are 50 students in a class. Their average weight is 45 kg.
When one student leaves the class the average weight reduces by
100g. What is the weight of the student who left the class ?

et efT | 50 fa=medt g1 S9eT 3irea asid 45kg & ST Uah ==t se
q AT T4 g, 39 d i 100gm & g1aT gl 39 ==t &1 a9 A1
¥, ST RelT | AT ST 272




5.Average age of 8 men is increased by 3 years when two of them
whose age are 30 and 34 years are replaced by 2 persons. What is

the average age of the 2 persons?
8 TR =hl 3l Ed 3 3 aW &g ATl g, a0 2 i<h [oreeht 3y 30 a9
TAT 34 99 g &l T 2 FhAT I Traearioa 6aT Srar g1 2
STRRAT st 3T 3T ST e ? -]

(a) 24 years
(b) 32 years
(c) 44 years
(d) 48 years




6.Average weight of 25 persons is increased by 1 kg when one
person weighing 60 kg is replaced by a new person. Weight of new

the person is:
25 SIRAT T 3|q a7 1 kg 92 STAT §, ST 1 =ixn et a9 60 kg
g, 1 37 =Th TTAedATiad FHdl gl T3 ST &1 aoid Td e

) 50 kg.
) 61 Kg.
) 86 kg.
) 85 kg
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7. The mean of 100 items was 46. Later on it was discovered that
an item 16 was misread as 61 and another item 43 was misread as
34. It was also found that the number of items was 90 and not 100.

Then what is the correct mean?

100 H&ATSAT T ArEd 46 g1 qTS | AT FAT o6 [ = LT 16 T 61 TAT
43 =T 34 Sifeha To6T 1T F AT AT g0 o6 et HeAT 100 3 £=A19 92 90
ofT| Tgl 3faa AT Fe




8.The average age of a husband and wife, who were married 4
years ago, was 25 years at the time of their marriage. The average
age of the family consisting of husband, wife and a child, born
during the interval is 20 years today. The age of the child is:

Ttd T Tt &l ArEq A, ST 4 99 g9 faa1g g o, f3arg & a9
25 99

A7) ofq, FIAHTT | Tt U TF ol &ed 3 20 99 gl T i TqHTT 3

ST e ?

(a) 1 years
(b) 2 years
(c) 2.5 years
(d) 3 years
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9.The average age of 30 students of a class is 14 year 4 month.

After admission of 5 new student in the class the average becomes

13 year 9 month. The youngest one of the five new students is 9

year 11 month old. The average age of the remaining 4 new

students is

;;;rhal % 30 AT st 3T 3T 14 99 4 HIE gl Il FeATH 5 97

;;?QT A o a8 3ga 13 99 9 9Tg 31 S1aT gl I 77 JTAT § 9a9

T 9 a9 11 /I &1 gl AT 4 U AT i red Tt g2 g Fha«t g2

(a) 10 years 4 months/10 a9 4 HTg

(b) 12years 4 months/12 a9 4 HTg
) -
) -

(c) 11 years 2 months/11aY 4 |Tg
(d) 13 years 6 months/13 a9 6 HTg




10. The batting average for 40 innings of a cricket p

runs. The highest score of the player is

layer is 50 runs.
His highest score exceeds his lowest score by 172 runs. If these two
Innings are excluded, the average of the remaining 38 innings is 48

Fohet ToetaTst &7 40 ITRAT &7 3rEd .50 T gl doadTs

FT ATAFTH THIT,

AT SRIT A 172 I Afers g1 Tia 9 & 9Tl 1 ekt fogm S, d

FTenl 38 TTIAT T 3Ed 48 T BT SITAT gl ToctaTsT &l 3
FL?
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165 runs
170 runs
172 runs
174 runs




11.A batsman in his 12th innings makes a score of 63 runs and there by
Increases his average score by 2. What is his average after the 12th

INNiNgs?
T doatdTst 1241 9T H 63 T a471aT &, fordeh sl 9T 3fad 2 T 98 1]
gl 123 911 o &7 737 SEd AT hi?

(a) 13
(b) 39
(c) 41
(d) 87




— 12.A cricketer whose bowling average is 24.85 runs per wicket,
takes 5 wickets for 52 runs in next inning and thereby decreases
his average by 0.85. The number of wickets taken by him till the
last match was:

T Toheha ¥ ToTeeRT TiaaTsit sired 24.85 T I Teehe gl 3WTet a1 § 98
T 52 T 9T 5 Taehe oIaT gl foreeh Sir I9et 3f|d 0.85 ¥ gl ST

N O N

gl Ik T AT = ek Tord T Taehal it 97 :Td Fe




13.Three Science classes A, B and C take a Life Science test. The
average score of class A is 83 .The average score of class B is 76.
The average score of class C is 85. The average score of class A and
B is 79 and average score of class B and C is 81.Then the average

score of classes A, B and C is

s Ao &t 19 e A, B 3T C S{a=-Tas st 90eT <t gl Fem A
% ST 3R 83 gl FEAT A o 3Hq 37 76 2| Feam C & 3 37 85 2| FHeaT
A 3T B o & 37 79 X efT B 3T C o 3{ted 3 81 g1 FeT A, B 3T

C = 3f9q 3 fohaw g2 (a) 80
(b) 80 5
(c) 8

(d)81 5

[




14.Average temperature from Sunday to Wednesday is 34° C while
average temperature from Wednesday to Saturday is 38°C. Average
temperature throughout the week is 36°C. Find the temperature on

Wednesday.

A. 36°C B. 38°C C. 34°C D. 32°C E. None of these
CEET | AT T 3| d araHTd 34°C g Saih Jea | OHar a |ad
AT 38°C g1 TX HHTE T 3{rEd dT9HTT 36°C T2aT gl AT T qIIHTH AT
ey

A. 36°C B. 38°C C. 34°C D. 32°C




15.The average age of a group of 30 friends is 34 years. The average
age of the first 10 friends is 31 years and the average age of the last 18
friends is 33 years. What will be the average age of the 11th and 12th

friend?

30 TH=TT & Ueh |Hqg T o ed 3y 34 a9 g1 I8 10 TH=AT 7 ofrea g 31 au
g 3T Sfqw 18 TH=IT =T e & 33 a9 gl 119 3T 129 {91 &t sf|q oy
FIT g2

A. 52 years B. 54 years C. 56 years D. none




